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Lota boughta dank.She paid with a £1 con
‘She was given 2 coins a5 change.

How much coud her drink hive cost?
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‘Tegan wants to buy a book for £4.79 and a pencil case for 35p
‘She has £5. How much more money does she need?

Archie and Ethan are having lunch at a café.
Archie has chicken and chips. Ethan has 2 pizza.

How much more doss Archie have fo pay than Ethan?

Chicken
Hotdog 2250
Pizza 535
Skye gets a burger and potato wedges. Burger 209
She pays with a £20 note.
et Pasta 350
How much change does she get?
Potatowedges  89p
Peas 5p
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Aro bought  sandwich for £2.35 and crisps for 87p..
He paid wiha £5 ot
How much change cid he get?
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